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B.Com.-10( (Bachelor of Commerce)

Second Year, Examination — 2012
B.C-11
Economic Policy&Rural Development

e Afa va Ao e

Time: 3 Hours Maximum Marks: 60

Note: This paper is obixty (60) marks containinghree (03) sections. Learners
are required to attempt the questions containgtiese sections according to the
detailed instructions given therein.

die: U8 UeIUd WIS (60) SfbipleGiki WUSI b, W Y T
HfaTioTae (M TaIRYEH @ SRS |

SECTION — A/ $iT9T-&

(Long-answer - type questiong) / & 3calla wea

Note: Section ‘A’ contains four (04) long-answer-typeegtions of fifteen (15)
marks eachlearners are required to answer two (02) questions only. (2*15=30)

Al HET ‘& F IR (04)AT 3caiiT NRATGITITAARIRARIATIEE
fAuRas, fwnfefar #t ga7d° & Faergt geal ¥ 3cav a7 &

1. oTiffen foremmar Y STeramon e 38 wvferd s aret fafsrT sment o o # fafla)
Explainthe concept of economicdevelopment andwrite about the differentfactors which affect it.

2. T SITH o G WA o o9 d F:2R e oh1 SATTIeh GRTeh o1 H 0T 3 31 haTTreh forehrer
ATeT 1 fersdwor Fifsm)
Describe the economic conditionof small and cottage industriesat the time of independence of

India , Analysis its contribution of economic development of the country.
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3. SereRr, SiTentor Ue AefiertoT & 31T 31T T 82 TR oF SR § T8 aTet SHTE
AT frsguurhifom)
What you thinkliberalization, privatization and globalization? critical analysis effects of
globalization on Indian agriculture.

4. WA ¥ Y@ AT HH-FH U 82 TR ST Gord A EEE It T g /el shi aarsd|

Whatare the main ImportsofIndia?Describe mostof thetop fiveitemsof the imports of India.

SECTION — B/ HTT @
(Short — answer — type questionsy &g Jca{id 2T

Note: Section ‘B’ contains eight (08) short- answer tygpestions of five (05)
marks eachlearners are required to answer four (04) questions only. Answers
of these questions must be restricted to two huhfity (250) words
approximately. (4*5=20)
HAlC (T W 'H IS (08) Y Swdia we & I § Gk A & fw i
3w eRT &, el #t gaH & Faa arw geal F 3eav a7 &

Jcdeh YT Tl 3ca¥ al Al YT (250) QTG & 318 18T glar AIfRgu|

Briefly discussany four (04) of the following;

P & O fegT aroa)qeaa & 3cav 3o &

1. W G IEATIRH fehet- et Alieh g caquTse g
Whichcountriesareimportant partners in India’s foreigntrade.

2. Tieler foreer & welwifeR i ftreRt T 3T forem fafag

Write Your views on the role ofpublic in Economicgrowth.

3. forw SR H3T % e R aars

Describe the mainfunctionsofthe World Trade Organation.

4. WG H STHEEAT B T o el fafie smrent s aviq s
Describe the various factorsthat affectthepopulation in India.

5. w7 forenrer ok fordr SR ©fi st =TS i T 2l

Which planis being implemented for rural development.
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6.

IO &1 ST o ATk |Te bl forepiad et 8 Stiforspra o1 $1fieh T Hifery)

Elaboratethe role oftheDairy Development indevelopingexcesssourcesof income inruralareas.

7.

HEANTT T T GEATTT R0T § el T IS

Distinguishbetweeninstitutionaland noninstitutional credit.

8.

TR STeferareeT | i hi iRt 1 avi i)

Describe the role ofagriculture inIndianeconomy.

SECTION — C/@8 o1
(Objective — typaigstions) / a¥Jfess woaf

Note: Section ‘C’ contains ten (10) objective —type diges of one (01) mark
each All the questions of this section are compulsory.

(10*1=10)

Al 9T T A gF (10) TE(ASS we & I § Ycdeh uee & fAw v
3 WUIRT § | 39 @5 & @3t g HfAars & /

Indicatewhether the following are true or false:

ST AfRfArATaf@d Ter & a1 Ired |

1.

SfeT AT AT €S & R T faed H q@ T E |

Population in terms of at India is the world second position.

forg SATIR TTa o1 TTOAT | SR 1995 7 €5

WTO was established in 1 January 1995.

AT H oW e AT 1 3T 1950 & TR g

The First Five Year Plan was started in Indian1 April1950.

TR H Herdr 37k SEEAT ATeT T Ieak TawT 2

U.P is Largest Populated State in India.

TTHIOT TR O HeehT] TS G st oh forer Srerfih iy e wftfert g R ST )
The village level, loans form cooperative institutions are disbursed by the Primary Agricultural
Credit Societies.

Indicate the correct answer-option:

IR ?ﬁl‘t’ﬂ?fi&ohwﬂgﬁlqﬁﬁw:
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6. Tifera o & for ek o v © et 50 ot 9 el e frrere 3@ 8o
. TH I
TG R
. T @1 o e et o giied
3. ST 6T AT Jg R

Which among the following has fallen most rapidly in India in thelast 50" years?
a. Birth Rate
b. Death Rate
c. Percentage of population below poverty line
d.  Annual rate of growth of population
7. BRd ST TE T ST ST e 22
31, TR T T &
o HETIIH o TTa o
|95 =101 o Suri &
2. 1T SR qametl h e ¥

‘Green Box’ and ‘Blue Box’ measures relates to

nature of tariffs
effect of subsidy
measures of pollution control

e o oo

patents for seed and medicines

8. I Yore’ fored geftra @ —

a. S
b. T
c. A
d. dfesat
‘Operation Flood’ is associated with
a.  Water
b. Milk
c. Grain
d.  Vegetables

9. IRAH ‘B shif=a* forer et 531 o for waifires ahet w82
a. YT dAT qcled
b. g qAT AN
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c. g qUT HFH
d. TR o faered

‘Green Revolution’ in India has been most successful for which pair of the crops:-
a. Rice and Pulses
b.  Wheat and Rice
c.  Wheat andMaize
d.  Maize and Oilseeds

10.  &pfrer rTefior Sfept T ToToATES |

Regional Rural Banks were established.

a. 1975
b. 1974
c. 1979
d 1978
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